WO ngauuo mmay// diy

http://www.onlinebu.com

ol o0 o1 Chiesdrsigs - ]}

AY-127
B.Com. 1™ Year (Reg /I’ 1.) Examination, 2019
Management Group
Paper -1
Principles of Statistics
Time : 3 Hours} [Maximum Marks : Reg.= 40
Pvt.= 50
de - @ g FEd R
Note :- Attempt all the questions.
g - F
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Objective Type Questions
1. af 39T & gg7 Ao
Choose the correct answer :
(i) afeg T & fas R om e R €
(®) @twges vd FRA (9) e o woE
(@) aftm o madn (z) 7= 0 Feam

"Statistics is the science of the counting” who's

statement is this .

(a)  Croxton & Cowden(b) Simpson and kafka
(c¢) Wallis and Roberts(d) Yule and Kendal!

(ii) @& wat & T § FRaw w1 FEA 2

(#) f= (7) = B=

(8) afiE (@) s
Systematising the related facts into classes is called -
(a Picture (b) Graph
(¢) Classification (d) Tabulation

(iii) W & e & e B-a1 w7 IegERr M A
(%) wwRR e (@) mem
(7) g ® T
AY-127 ()
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Which of the mean will be suitable mean for < e of
shoes ?

(@)  Arithmatic mean (b) Median

(¢) Mode (d) Geometric Mean
TG F qe3 T4 A F geeEn o 2

() o (@) T

® = (z) #R T

The correlation between price and demand of a
commodity is :

(a) Positive {(b) Negative

(¢) Zero (d) None

R & & S 2R e 3 B & saRa @ 2 ?
(a1) ¥ (@) wte

(@) s R () & e

Which one of the following persons is not related

with the field of index numbers ?

(a) Bbwley (b) Marshall
(c) Ronald fisher (d) Irving fisher
e - ‘T
SECTION - 'B'
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Short Answer Type Questions
2. giftad F gioufaa Fnm )
Define statistics.
HET/OR
qvAEE 8 T TR oWy 2 ?

What do you mean by questionnaire ?
3. Tgos w9 FRT

Find mode of the series
x: 2810121518

f: 433 8 7 5

FI/OR
BUHS A & oftft g
Define Harmonic mean
4. FA-3N B T ¥ oy Ay A B
What do you known about time - series

HY/OR
AT 3 A9 Reg & R

Write about the measurement of skewness.

5. seddy iE R ey dw o} 2
AYA27 ()
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what is the [iy,;,

1 J
0] COMTelint g,

HTAIOR
g T 3 LR

Explain TCgression lipe
6 PR & T 3w oy |
Give to |
VUruses of index numbers,

YT/ OR
uid Fsrs a3 2

5%x5=15

P.T.0.

é: What is weighted index numbers
> a5 -
fé SECTION - 'C’
% e I we
?} Long Answer Type Questions
; o
o 7. Fradt @ Pa-d Gt & ? Rga F == Afw
? What are the methods of sampling, discuss in detail.
HEE/OR
qrfd ae T4 R g 7 S AT |
Distinguish between primary data and secondary data.
8. meq ud qUER & OF
Calculate X and M
5)
AY-127 (

http://www.onlinebu.com

WO NGIUIUO” Mman/:diy

http://www.onlinebu.com

X : 10-20 20-30 2W-40 10 0 S0 60
y - 8 4 1
FHTF/OR
x:70 80 90 99 102 104
f: 2 3 2 7 3 5
Calculate first and second quartile
x:70 80 90 99 102 104

2 f:2 327 3 5
% 9. Rwma oiE & o i
S A (Fe 3) - 14 18 20 21 30
5 R 6 % 9 5 2
E Calculate co-efficient of skewness.
2 Weight (inkgs) : 14 18 20 21 30
No.ofchildren : 6 8 9 5 2
FRVOR H
Mﬁﬁwﬁmmmﬂﬂmﬂm
™ 1991 1992 1993 1994 1995
I ;4 5 7 9 10
AY-127 , (6)
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10. Fra= (X) T 3@a (v & B e B s B

AY-127
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From the following figure:

method of least «

B UATe 5
Year 199 19972
Froduction 4 5 r ;

By

X: 42 44 58 55 89 98 66
y: 56 49 53 58 65 76 58
Calculate Karl pearson's co - efficient of coorelation for

the following data of export (x) and import (v)

X 42 44 58 55 B9 U8 66
y - 56 49 53 58 65 T6 5K
HY/OR
Given the following values :
g A I draq g freer
Yield of wheat Mean standard deviation

s (Fem afy gad) 10 8
Area (Kg per Unit)

aaf (&0 ) 8 2
Rain (in cm)
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WA d M B proddy s - (S ENfAE 3T A
I Ffan, wafs gt g wd A
Coefficient of correlation between production and rain 1
0.5. Estimate the yield when rainfall is 9 cm.
11. Fessis #) oftwm 4 gawie 3 gt o donsd A
TR |
Define index number. Discuss the uses and limitations of
index numbers.
HRW/OR
Fr=fafee @ diw Ravh Rifae
(i) e ot & g
i) Pwe & dod
(iii) Wt Wy
Write a short note on the following :
(i) Selection of base year
(ii) Limitations of index mumber
(iii) Selection of averages

+4++
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